Module Name : MCom Business Finance-E
Exam Date : 20-Sep-2020 Batch : 16:00-18:00

Sr. || Client Question . . Negative
No. D Question Body and Alternatives Marks Marks
Objective Question
1 1 Which of the following organizational structure is followed by Co-operatives in India? 4.0 1.00
.Al Unitary Structure
'A2 Federal Structure
,AS Centralized Structure
A4 Decentralized Structure
Objective Question
2 2 is based on the principle of self-help through mutual help, abolition of profits and service above self-help. 4.0 1.00
,Al Socialism
,'AZ Capitalism
{\3 Co-operation
64 Trade unionism
Objective Question
3 3 The Co-operative Societies Act was passed in India in the year 4.0 1.00
Al 1904
A2 1912
A3 1919
.A4 1949
Objective Question
4 4 The National Agricultural Cooperative Marketing Federation established in has been playing an important role 4.0 1.00

in the development of cooperative marketing in India.

Al 1918



AZ 1968

A3 1908
54 1958
Objective Question
5 5 NCHF stands for 4.0 1.00

fM National Cooperative Housing Federation of India
A2 . . . .
7 National Credit Housing Federation

63 National Consumer Housing Federation

.A4 National cooperative Housing Finance

Objective Question

6 6 The products of is popularly known by the brand name ‘Amul’. 4.0 1.00
Al . . .
. Katra Cooperative Dairy Society
A2 . o . . .
7 Kaira District Cooperative Milk Producers Union
A3 Baroda Dairy
A4 All of these
Objective Question
7 7 Contribution margin contributes to meet which one of the following options? 4.0 1.00
.Al Variable cost
'AZ Fixed cost
,'AS Operating cost
64 Net profit
Objective Question
8 8 Which of the following is not included in functional classification of overheads? 4.0 1.00



A1 Repairs and maintenance

52 Lubricating oil
f“ Consumable stores

.A4 Chargeable expenses

Objective Question
9 9

fM Factory overhead control account

52 Work in process account

.AS Income Statement

,A4 Entire production

Objective Question
10 10
margin/profits?

Al ErFo

A2 L 1IFO

,'AS Weighted Average

64 Cannot be determined

Objective Question
11 11

Al Rs. 200

A2 Rs. 192
A3

Rs. 180

.A4 Rs. 16

In cost Accounting, abnormal loss is charged to:

When prices are rising over time, which of the following inventory costing methods will result in the lowest gross

4.0

4.0

The standard time required per unit of a product is 20 minutes. In a day of 8 working hours a worker had given an output of 4.0
30 units. If he gets a time rate of Rs.20/hr., his total earnings under Halsey bonus scheme was:

1.00

1.00

1.00



Objective Question

12 12 Joint Cost is suitable for-

fM Infrastructure Industry

.A2 Ornament Industry

A

3 Oil Industry

A4 Fertilizer Industry

Objective Question

13 13 Cost units of Automobile Industry is-

.Al Cubic meter

A

2 Bed Night

,'AS Number of Call

64 Number of vehicle

Objective Question

14 14 All Indirect cost is charged/recorded in the head of

,Al Prime cost

'_Iu FOH cost

63 Direct labor cost

54 None of these

Objective Question
15 15

fM Work done

62 Work in Process

53 Work Completed

A4 Work in Progress

The sum of value of work certified and uncertified appearing in the Contract Account is called

4.0

4.0

4.0

4.0

1.00

1.00

1.00

1.00



Objective Question

16 16 The budget which commonly takes the form of budgeted profit and loss account and balance sheet is

A

! Cash budget
,'AZ Master budget
63 Flexible budget

54 Fixed budget

Objective Question

17 17 Which Ministry in our country is responsible for administering laws regarding foreign trade and foreign investment:

fM Ministry of Corporate Affairs

{\2 Ministry of External Affairs
A3 .. . .
.~ Ministry of Skill Development and Entrepreneurship

A4 Ministry of Commerce and Industry

Objective Question

18 18 Which of the following does not constitute a form of direct foreign investment?

é ! Franchising

.AZ International trade

63 Joint ventures

_A4 Acquisitions of existing operations

Objective Question

19 19 Which of the following does not constitute a form of direct foreign investment?
fM Franchising
.A2 International trade

A3 Joint ventures

4.0

4.0

4.0

4.0

1.00

1.00

1.00

1.00



A4 . . .
. Acquisitions of existing operations

Objective Question

20 20 Working capital management in a multinational company is more complex due to: 4.0 1.00

Al Changes in exchange rate

{\2 Tax rate differentials

53 Proximity to international financial market

54 All of these

Objective Question

21 21 Dumping refers to: 4.0 1.00

fM Buying goods at low prices abroad and selling at higher prices locally
2 . . .

-7 Expensive goods selling for low prices

f“ Reducing tariffs

.A4 Sale of goods abroad at low a price, below their cost and price in home market

Objective Question

22 22 Read the following statement and conclusion to answer the question that follows: 4.0 1.00

Statement: The current outbreak of COVID-19 disrupted the world trade and has put India in the list of top 15 most
affected economies

Conclusion: Indian Government has decided to focus only on domestic market and curb globalization as it creates a menace
to the nation’s economy

Which of the following is correct?

Al The given statement is true but the conclusion is false

A

2 The conclusion is true but the given statement is false

53 Both the given Statement and Conclusion are false

A4 Both the given Statement and Conclusion are true

Objective Question

23 23 TRIMs stands for 4.0 1.00

A1l The Agreement on Trade-Related Investment Measures



{\2 Trade information management

A3

. Trading information management system

A4 Both Trade information management and Trading information management system

Objective Question
24 24 Who among the following is regarded as the Father of Modern Marketing? 4.0 1.00

Al Peter F. Drucker

.AZ R.L.King

.AS Friedman

A% philip Kotler

Objective Question

25 25 The root taken by the title to the goods as they move from the producer to the ultimate consumer or industrial user is 4.0 1.00
regarded as:

.Al Physical Distribution
'A2 Distribution Channels
,AS Personal selling

A4 Departmental stores

Objective Question

2626 A critical marketing perspective is the process of determining: 4.0 1.00

A

! the value of a product, person, or idea.

,'AZ how places compete with each other.

A . . .
. 3 the worth and impact of marketing activities.

4 which type of promotional strategy works best.

Objective Question



27 27 Newsletters, catalogues, and invitations to organisation-sponsored events are most closely associated with the marketing

mix activity of:
,Al Pricing
,'AZ Distribution

63 Product development

54 Promotion

Objective Question

28 28 Identify the one that is a further 3Ps are incorporated into the marketing mix:

fM physical evidence, process and price
2 .
process, people and promotion
3 . . .
physical evidence, people and production

4 physical evidence, process and people

Objective Question

29 29 The term marketing refers to:

1 .
new product concepts and improvements.
2 - . L
advertising and promotion activities.
3 a philosophy that stresses customer value and satisfaction.

4 . .
planning sales campaigns.

Objective Question

30 30 The degree to which a curve of a frequency distribution is peaked or flat topped is known as:

fM Moment
.A2 Dispersion
A3 Skewness

A4 Kurtosis

4.0

4.0

4.0

4.0

1.00

1.00

1.00

1.00



Objective Question

331 Which among the following not a method for determining Correlation? 4.0 1.00

Al Coefficient of concurrent deviations
A2 5 .

.~ Spearman’s Rank Difference Method
A3 . o

-7 Coefficient of Determination Method

54 Scatter diagram

Objective Question

32 32 If correlation coefficient is 0.7, the coefficient of determination shall be: 4.0 1.00
Al o9
A2 070
f“ 0.49
.A4 0.65
Objective Question
33 33 Sum of deviations taken from the median ignoring +and — signs will be of all the other deviations taken from any 4.0 1.00

other value.
fM Negative

A2

.7 Maximum
A3 Least
A4 Square
Objective Question
34 34 An error which is committed through a test by accepting a null hypothesis which is false in reality is known as: 4.0 1.00
Al

. Type Il error

A

2 B error

A3
.~ l-aerror



A4 Either Type II error or  error

Objective Question

35 35 Which of the following statements are not the properties of standard normal distribution? 4.0 1.00

A

! The standard deviation is 0 and mean is equal to 1

{\2 The approximate values of mean deviation and quartile deviation is 0.8 and 0.675 respectively

A . . .
. 3 The two tails of the curve never touches the horizontal axis

54 The median and mode all is equal to zero

Objective Question

36 36 If the value of any regression coefficient is zero, then two variables are: 4.0 1.00

A

! Related

A

2 Correlation

f“ Dependent

A

4 Independent

Objective Question

37 37 An agreement that is caused by fraud, misrepresentation & coercion is 4.0 1.00
AL Voidable
Az Partially Void

A

3 Valid

,A4 All of these

Objective Question

38 38 A contract in which, under the terms of a contract, nothing remains to be done by either party is known as 4.0 1.00

.Al Executed contract

'A2 Executory contract



A3 Unilateral contract

54 None of these

Objective Question

3939 Name of a company can be changed by. 4.0 1.00

fM An ordinary resolution.

{\2 A special resolution.

53 An approval of the central government.

A4 A special resolution and with approval of the Central government.

Objective Question

40 40 A and B jointly owe Rs 10 lakhs to C. A pays the amount to C and B, not knowing this fact, pays Rs 10 lakhs over again to 4.0 1.00
C.

A

! C is bound to repay the amount to B

Az C is bound to repay the amount to B and A jointly

.AS C is bound to repay the amount to A and B equally

,A4 C is not bound to repay the amounts to B

Objective Question

41 41 A lends Rs 10 lakh to B for a year, After one year A’s right to recover the money from B is a 4.0 1.00

.Al Right in rem

'A2 Right in personam

,AS Moral right

A% Civil right

Objective Question

42 42 The charter of a company is its 4.0 1.00

1
prospectus.



A2 Memorandum of Association.

53 Certificate of incorporation.

A4 Articles of Association.

Objective Question

43 43 Who said, “Every Agreement and Promise enforceable at law is a contract? 4.0 1.00

A ! Austin

52 Benjamin

f“ Pollock
.A4 Balfour
Objective Question
44 44 A promises to pay B Rs 30,000 if B procure for him the title “Padma Shri”. The agreement is 4.0 1.00

.Al Enforceable

A2 Void
A Valia
A% Voidable
Objective Question
45 45 Iverson Jewelers wrote a letter to Miller, “We have received an exceptionally fine self winding Rolox watch which we will |40 1.00

sell to you at a very favorable price.”

A

! The letter is an offer to sell.

'AZ A valid offer cannot be made by letter.

A3 The letter contains a valid offer which will terminate within a reasonable time.

64 The letter lacks one of the essential elements of an offer.

Objective Question

46 46 Tom and Jerry entered into a contract whereby Tom agreed to sell Jerry $1,000 worth of heroin, an illegal substance. This is 40 1.00
an example of a:



1 .
quasi contract.

2 void contract.

3 voidable contract.

4 secondary party beneficiary contract.

Objective Question

47 47 One of the factors causing decrement in work is

Al

Wages

'AZ Fatigue

3

A Working hour

64 None of these

Objective Question
48 48 The

leadership style is an expression of the leader’s trust in the abilities of his subordinates.

Al Participative

{\2 Delegative

.~ Authoritarian

. All of these

A3
A4
Objective Question
49 49 The
Al

skills relate to a person’s knowledge and ability in any organizational functional area.

. Management

52 Technical

,A3 Conceptual

A

4 All of these

4.0

4.0

4.0

1.00

1.00

1.00



Objective Question

50 50 The two dimensions of leadership which emerged from the Leader Behavior Description Questionnaire were 4.0 1.00

5

‘consideration’ and * .

fM Energizing
{\2 Initiating structure
53 Deliberate

A4 Commanding

Objective Question

51 51 Which theory assumes that the manager’s role is to coerce and control employees? 4.0 1.00

é ! Theory X

.AZ Theory Y

.AS Theory Z

,A4 None of these

Objective Question

52 |52 To be efficient every manager must try to 4.0 1.00

fM Understand human behaviour

.AZ Predict human behaviour

,A3 Control human behaviour

A

4 All of these

Objective Question

53 53 Organizational objectives can be achieved by 4.0 1.00

_Al Group work
'AZ Division of labour

1"&3 Hierarchy of authority



A4 All of these

Objective Question

54 54 To change organizational culture successfully we need to: 4.0 1.00

Al Find the most effective sub-culture and use it as an example

{\2 Practice what we preach

A . . . .
) 3 Both Find the most effective sub-culture and use it as an example and Practice what we preach

54 None of these

Objective Question

5555 piles are used in a scale for measuring attitude is known as Thurstone’s scale 4.0 1.00
fM Ten

52 Eleven

.A3 Twelve

.A4 Thirteen

Objective Question
56 56 Which of the following forms the basis for the autocratic model of OB 4.0 1.00

fM Obedience

Az Authority

.A3 Power

,A4 Dependence on boss

Objective Question

57157 Behavioural Patterns affecting job design are.. 4.0 1.00

fM Autonomy

.A2 Diversity

A3 Feedback



A% Al of these

Objective Question

58 58 Which of the following role a manger performs as a resource allocator? 4.0 1.00

Al Interpersonal role
{\2 Decisional role

53 Supportive role

.A4 Informational role

Objective Question

59 59 Section of the Industrial Disputes Act 1947, states that an employer should only retrench employees who have 4.0 1.00
been most recently hired

Al ok
A2 4G
.AS 25-F
,A4 25-G
Objective Question
60 60 In Vroom's theory, motivation is a product of 4.0 1.00

fM Expectancy

.AZ Instrumentality

,A3 Valance

A

4 All of these

Objective Question

61 61 Choose which of the following is a benefit to the individual while receiving training? 4.0 1.00

_Al Creates an appropriate climate for growth, communication

A2 Aids in increasing productivity and/ or quality of work



A . .
) 3 Satisfies a personal needs of the trainer

54 None of these

Objective Question

62 62 National cultures could be explained by the key factors namely 4.0

Al b dividualism

52 Collectivism

A3 .. . .

.~ Individualism and power distance

.A4 Individualism and collectivism

Objective Question

63 63 Care in shortlisting candidates for recruitment increases the chances of being 4.0

Al Unfair to all applicants
A2 o Lo . . .
. Increases the likelihood of calling inappropriate people for interviews

.AS Lessens the likelihood of calling inappropriate people for interviews

,A4 Both Unfair to all applicants and Increases the likelihood of calling inappropriate people for interviews

Objective Question

64 64 Which of the following is not true with reference capital budgeting? 4.0

fM Capital budgeting is related to asset replacement decisions
A2 g - .

.7 Cost of capital is equal to minimum required return

A3 . . S

.~ Existing investment in a project is not treated as sunk cost

A4 Timing of cash flows is relevant

Objective Question

65 05 Financial Leverage is calculated as 4.0

{“ EBIT+ Contribution

1.00

1.00

1.00

1.00



52 EBIT+ PBT

53 EBIT= Sales

A4 EBIT ~+ Variable Cost

Objective Question

66 66 A firm has EBIT of. 50,000. Market value of debt is. 80,000 and overall capitalization rate is 20%. Market value of firm 4.0 1.00
under NOI Approach is:

AL 50,000

AZ 1 70,000

A3 30000

A% 130,000

Objective Question

67 67 The ratio of the risk premium to the standard deviation is called 4.0 1.00
?M Capital Gearing Ration
:A2 Risk premium ratio
:AS Sharpe ratio
I:M Return on Equity
Objective Question
68 68 The value investors place on a particular outcome is determined by the gains or losses that they have made since the asset 4.0 1.00

was acquired or the holding last reviewed, and investors are particularly averse to the possibility of even a very small loss
and need a high return to compensate for it. The above argument is based on

Al Expectation Theory
{\2 Agency Theory

63 Purchasing Power Parity Theory

54 Prospect theory

Objective Question



69 69 Consider the two strategies. Strategy 1: Invest $1,000 in a floating-rate default-free bond yielding 9%. Strategy 2: Invest 4.0 1.00

$1,000 in a comparable floating-rate corporate bond yielding 10%. At the same time take out an insurance policy with a
premium of 1% a year to protect yourself against the possibility of default.

.Al Both strategies yield same return

,Az Both strategies yield different return

AS Second strategy creates an arbitrage opportunity

A

4 All of these

Objective Question

70 70 Fee income, known as non-interest income, is desirable for banks because it represents 4.0 1.00

,Al Stable source of revenue

,'AZ It is exposed to market risk

63 Expose bank to additional credit risk

A4 . ..
. Less investment in infrastructure

Objective Question

71 7 The principal function of the Asset Liability Management desk is to manage 4.0 1.00

‘_M Interest rate risk
A2 1 jquidity risk

53 Market risk and interest rate risk

A4 Interest rate risk and liquidity risk

Objective Question

7 n Funds held by banks for cash management purposes are called 4.0 1.00

€XCess reserves
A2
. legal reserves

3 .
required reserves



A4 target reserves

Objective Question

73 73 The record of international transactions between countries is summarized in the

Al Balance sheet
{\2 Balance of payments

{\3 Capital account

A

4
Current account

Objective Question
74 74 Inflation is

fM The rate of change of a volume index such as real GDP

52 The rate of change of a price index such as the CPI

.A3 The absolute level of a price index such as the CP1

.A4 The absolute level of a volume index such as real GDP

Objective Question

75 75 The reason why the financial system entails some externalities is because

Al The incentives of the managers of financial institutions are, at times, in line with those of its shareholders, depositors,

and society in general

Az They usually make very large profits

A3 The incentives of the managers of financial institutions, at times, conflict with those of its shareholders, depositors,

and society in general

,A4 If managed correctly, financial institutions will never be the source of externalities

Objective Question

76 76 Which of the following will not cause an increase in the supply for loanable funds?

fM An increase in the rate of return of gold holdings, a substitute for bonds

.A2 An increase in wealth

A3 A decrease in the relative riskiness of bonds

4.0

4.0

4.0

4.0

1.00

1.00

1.00

1.00



A4 . . .
- A decrease in the expected inflation rate

Objective Question

77 77 Which of the following is not part of the opportunity cost of going on holiday? 4.0

Al The money you spent on a theatre show

{\2 The money you could have made if you had stayed at home and worked

53 The money you spent on airline tickets

. 4 The money you spent on food

Objective Question

78 78 If the price of a good is equal to the equilibrium price, 4.0

fM There is a shortage, and the price will fall

52 The quantity demanded is equal to the quantity supplied, and the price remains unchanged

f“ There is a surplus, and the price will rise

A4 There is a shortage, and the price will rise

Objective Question

79 79 A congested toll road is 4.0

fM A good produced by a natural monopoly

Az A private good

_A3 A public good

A4
. A common resource

Objective Question

80 80 The burden of a tax falls more heavily on the sellers in a market when 4.0

.Al Both supply and demand are elastic.

Az Both supply and demand are inelastic.

1.00

1.00

1.00

1.00



63 Demand is inelastic and supply is elastic.

54 Demand is elastic and supply is inelastic.

Objective Question

81 81 If the long-run market supply curve for a good is perfectly elastic, an increase in the demand for that goodwill, in the long 4.0
run, cause

Al . . . . . .

. Anincrease in the number of firms in the market but no increase in the price of the good.
A2 . . . . . .

.7 An increase in the price of the good and an increase in the number of firms in the market.

f“ An increase in the price of the good but no increase in the number of firms in the market.

.A4 No impact on either the price of the good or the number of firms in the market.

Objective Question

82 82 Adam Smith's "invisible hand" concept suggests that a competitive market outcome 4.0

fM Maximizes total surplus

Az Generates equality among the members of society

.A3 Minimizes total surplus

,A4 Both maximizes total surplus and generates equality among the members of society

Objective Question

83 83 If all firms in a market have identical cost structures and if inputs used in the production of the good in that market are 4.0
readily available, then the long-run market supply curve for that good should be

_Al Downward sloping.
'AZ Perfectly inelastic.
153 Upward sloping.

64 Perfectly elastic.

Objective Question

84 84 The word ‘company’ is derived from the word 4.0

Al Latin

1.00

1.00

1.00

1.00



52 Greek

f“ Malay

.A4 Spanish

Objective Question
85 85

Al 2007

A2 2004

A3 2005

A% 2009

Objective Question
86 86

.Al Application

A

2 Allotment

AS Rights issue

{M Redemption

Objective Question

87 187 Insolvency is the inability of a

,Al Creditor

A

2 Debtor

A?’ Banker

54 None of these

Objective Question
38 88

The Issue of Capital and Disclosure Requirements (Regulations),

It is an issue of capital to be offered to the existing shareholders of the company.

to pay their debt.

Company shall create a debenture redemption reserve account out of the

4.0

4.0

4.0

4.0

1.00

1.00

1.00

1.00



fM Gross Profit

A2 pIT

A3 ppT

A4 pAT

Objective Question

89 89 Debenture Trust deed is a written instrument legally conveying property to a often for the purpose of securing a 4.0 1.00

loan or mortgage

Al qur

A2 Individual

63 Trustee

64 None of these

Objective Question

90 90 According Section 52(2) of the Companies Act 2013, the securities premium cannot be utilised for payment of 4.0 1.00
"M Dividend
{\2 bonus share

53 Both

A4 None of these

Objective Question
91 91 What is the abbreviation of PLA in Central Excise and Tariff Act? 4.0 1.00

fM Personnel Ledger Account

52 Permanent Ledger Account

f“ Permanent Legal Account

.A4 Provisional Legal Account



Objective Question

92 92 Doctrine of Unjust Enrichment is a concept relating to.. 4.0 1.00

A

! Refund of excise duty

A

2 Rebate of custom duty

1"&3 Refund of income tax

64 Rebate of excise duty

Objective Question

93 93 GST implementation date in India is 4.0 1.00

AL 4th July 2017

{\2 Ist April 2017

A3

.7 st July 2017
54 Ist April 2018
Objective Question
94 94 Example of Indirect Tax is . 4.0 1.00

fM Wealth Tax
52 Income Tax

A3 Gift Tax

.A4 Custom Duty

Objective Question

95 95 Ordinary resident of individual may satisfied... 4.0 1.00

é Basic condition and Additional conditions

Az only additional conditions

.AS basic condition alone

A4 Two basic conditions



Objective Question

96 96 Minimum alternative tax would be charged on

,Al Net profit

,'AZ Book profit

63 Notional profit

54 Total income

Objective Question

97 97 Assessment year starts from the month of
Al
- January
A2 April
A3

May

TAA July

Objective Question

98 98 A Current Ratio of Less than One means:

fM Current Liabilities < Current Assets

52 Fixed Assets >Current Assets

63 Current Assets < Current Liabilities

.A4 Share Capital > Current Assets

Objective Question

99 99 The term 'EVA' is used for:

fM Extra Value Analysis
.A2 Economic Value Added

A3 Expected Value Analysis

4.0

4.0

4.0

4.0

1.00

1.00

1.00

1.00



64 Engineering Value Analysis

Objective Question

100100 Inventory Turnover measures the relationship of inventory with:

Al Average Sales

{\2 Cost of Goods Sold

53 Total Purchases

54 Total Assets

4.0

1.00



